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S2

1,581 = hundreds + tens8 + ones

9,245 = thousands9 + 2 + tens +hundreds ones

1,581 = + +hundreds

1,581 = ones

thousands + 1 onetens8

9,245 = + + onestenshundreds92

9,245 = tens 5 ones+

4,927 =

4,927 =

4,927 =

4,927 = ones

+ 9thousands + oneshundreds + tens2

+ + onestenshundreds49

tens 7 ones+

1,581 = tens158 + ones

8,163 = thousands8 + +hundreds tens 3+ ones

8,163 = tens816 + ones

8,163 = ones

8,163 = hundreds + + 3 onestens

2)

3)

4)

1)

9,245 = ones

Decompose each number in different ways and fill in the missing numbers. 

Decomposing 4-Digit Numbers

Preview

Become a member to unlock 

unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


